HOW FAST CAN A
MOOSE

POPULATION
GROW?
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Many people thmk that a cow
moose mught cqntrlbute about
‘10-15 calves in h“&rilietlme
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To keep things simple, lets
follow these general biology
guidelines (this will vary from region to

region depending on several factors such as
habitat and predation):

 Cows generally have their first calf

when they are 3 years old. In areas with
good habitat this may be 2 years old.
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« Cows generally give birth every year.
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every three years, otherwise a single
calf is born.
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Let’s follow these general
biology guidelines:

Cows generally have their first calf when they
are 3 years old.

Cows generally have calves every year.

Twin calves are generally born once every
three years, otherwise a single calf is born.

Cows generally give birth to an equal number
of bull and cow calves.

Cows generally give birth for at least
14 years, and often 18 years!



our general biology
elmés for moose
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The cow is 3 years old.
The circle is her 1st year of giving birth.
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In her secood ye‘d'r of giving
blrth she has her first set of
_ twms...
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Her 2"d year of giving birth.
She is age 4.







Her 3"d year of giving birth. Age 5
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The cowiis nhow

. She has another single calf.

~ —

)

e Her first cow calf
first calf.



Her 4t year of giving birth, Age 6.
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When the cow IS ? years old,
her 5t year'of giving birth:

e She has her second set of twms

e Her first cow calf has #sf r t set
of twins R o X o

% And'her second coW‘ calf has lts




Her 5t year of giving birth, age 7.







Her 6t year of giving birth, Age 8.




Age 9




Age 10




Age 11




Year 12




Year 13




Age 14




Age 15










Number of Calves
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Number of calves p‘bte?iﬂall ‘ |
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And about half of those
would be bulls



But is this the way a moose
population really grows?



That’s right. Mortality

We know that all animal populations
suffer mortality.

What are some causes of mortality?



e Predation
e Disease

e Starvation
e Accidents



If we estimate a 50% calf
mortality rate — some areas
have higher, some lower- lets
see what happens. We will
alternate the loss from male to
female.
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Year 3
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When the c oqw ns‘zl years old
she has her fi rst set of

_‘ k twins...

L]




Year 4

X = calf that
dies






Year 5
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The cow|is now
e She h'as another single calf

e Her first cow calf no
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Year 6




When the cow is'7 years old

« She has her second set of twins
e Her first COw calf h‘as i#s first set

R *m

of twins B <,.-..,., “w
. And'her second coW‘calf has |ts




Year 7







Year 8




Year 9




Year 10










Year 13




Year 14




Year 15







Year 16

All moose that
survived
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of which half (or 33) are bulls!



So, when we factor in the reality of calf
mortality, the number of moose produced
over 14 years significantly drops.



But,
66 moose is still a lot more
than zero.



20 Cows, if left to live, could
produce how many moose?
How many bulls?



What do you think?
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